CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.					
Neil Williams	, hereby request station time as follows:					
I IDENTIFY CANDIDATE TYPE	RAL CANDIDATE E OR LOCAL CANDIDATE					
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED					
Candidate name:						
Ben Bius						
Authorized committee:						
Ben Bius for Texas House District 12						
Agency requesting time (and contact information):						
Edgerton Strategies; 1540 Keller Parkway; #108-402	; Keller, TX 76248					
Candidate's political party:						
Republican						
Office sought (no acronyms or abbreviations):						
Texas House of Representatives - District 12						
Date of election: 3/5/24	General Primary					
Treasurer of candidate's authorized committee:						
Andrew J Bolton						
The undersigned represents that:						
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):					
the candidate listed above who is a legally qualified car	STANDERSON					
the authorized committee of the legally qualified candi						
(2) this station is authorized to announce the time as paid for b	v such person or entity; and					
(3) this station has disclosed its political advertising policies, inc						
and other sales practices (not applicable to federal candidates).						
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.						
Candidate/Committee/Agency	Station Representative					
Signature:	Signature:					
Name: Neil Williams	Name: Towning RVASCOC Date of Station Agreement to Sell Time: 2//2024					
Date of Request to Purchase Ad Time: 2/1/24	Date of Station Agreement to Sell Time: 2//2024					

to an opposing candidate or, if it does, (for a duration of at least four seconds ar the candidate approved the broadcast a	ne broadcast matter to be aired pursuant to 2) contains a clearly identifiable photograple of a simultaneously displayed printed state and that the candidate and/or the candidate airs a personal audio statement by the candidate has approved the broadcast.	h or similar image of the candidate ment identifying the candidate, that e's authorized committee paid for the
Candidate/Authorized Committee/	'Agency	
Signature:		
Name:	лительно заменев в востанти в нарубочице от что в в него трав поросно на часту стема, не достано в него в в него револи от него достано в него в него дей в него револи от него в	Major de la desta de la policia de la major de la major de la policia del la policia del la policia de la policia del la policia dela
Date:		AMMONOMENTS COMPANIED AND AND AND AND AND AND AND AND AND AN
T(D BE COMPLETED BY STATION O	NLY
Ad submitted to Station?	s No Date ad received:	
Note: Must have separate PB-19 For	ms for each version of the ad (i.e., for	every ad with differing copy).
Federal candidate certification signed (a	bove): Yes No	N/A
Rejected – provide reason:	y not yet received to determine sponsor ID	
Date and nature of follow-ups, if any (e.g	·	mithel Few and tak
Contract #: 37/08004	Station Call Letters:	Date Received/Requested:
Est. #:	Station Location: DR / Mr., K.X.	Run Start and End Dates / /24
use this space to document schedule of purchased or attach separately. If station	raffic system print-out) or other documents time purchased, when spots actually aired, will not upload the actual times spots aired t information immediately should be place	reflecting this transaction to the OPIF or the rates charged and the classes of time d until an invoice is generated, the name

Sales Order

Station:	KTAM-AM				Agency	:E	DGERTON S	TRATEGIES			
Contract Na	ne: Exchange Orde	r 371080	06-02	Addres	Address: Attn: NEIL WILLIAMS						
Contract#:				300615	9	1:	540 Keller Pa	rkway			
Start Date:	2/07/24	End Da	ate:	3/05/2	4 City:	K	eller	State: TXZip:	76248		
Revenue Ty	e: AGENCY		Ту	pe: Cas	h Buyer:	N	leil Williams				
Advertiser:	BEN BIUS FOR S	TATE HO	OUSE	· · · · · · · · · · · · · · · · · · ·	Tax Sci	hedule:			(None)		
Address:			•••••		Agency	Commis	ssion %: 15				
City:	•••••	State:	Zip:		Billing (Cycle: S	tandard		************		
Product Nam	ie: House District 1	2 - NON I	P		Salespe	erson: 1	794KKATZ	Comm %:	0		
Estimate #:	11070		• • • • • • • • • • • • • • • • • • • •		Makego	od Polic	y: Requires C	lient Approval			
Agency Clier	nt Code: <u>na</u>		• • • • • • • • • • • • • • • • • • • •								
Competitive	Code: POLITCAL										

	DA ⁻	TES	Alt	TIN	/IES	Ι	DISTRIBUTION TOTALS					TALS							
Nο	START	END	wks	START	END	LEN	м	Т	W	T	F		SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	2/07/24	2/09/24		6:00 AM	10:00 AM	30		_ 	X	x	X	1		3	w	19.00	3	57.00	3
		<u> </u>							·		L			<u> </u>					Approved-
2	2/07/24	2/13/24		10:00 AM	3:00 PM	30			Х	Х	Х			3	W	19,00	3	57.00	3
																		-	Approved-
3	2/07/24	2/13/24		3:00 PM	7:00 PM	30		[Х	Х	х			3	W	19.00	3	57.00	3
						-		•••	•										Approved-
4	2/19/24	3/01/24		6:00 AM	10:00 AM	30	Х	Х	Х	Х	Х			3	W	19.00	6	114,00	3
																			Approved-
5	2/12/24	2/16/24		6:00 AM	10:00 AM	30	Х	Х	Х	Х	Х			6	w	19.00	6	114.00	3
																			Approved-
6	2/12/24	2/16/24		10:00 AM	3:00 PM	30	Х	Х	Х	Х	Х			6	W	19.00	6	114.00	3
									•										Approved-
7	2/19/24	2/23/24		10:00 AM	3:00 PM	30	Х	Х	Х	Х	Х			2	W	19.00	2	38.00	3
																			Approved-
8	2/12/24	2/16/24		3:00 PM	7:00 PM	30	Х	Х	Х	Х	X			6	W	19.00	6	114.00	3
																			Approved-
9	2/19/24	3/01/24		3:00 PM	7:00 PM	30	Х	Х	Х	X	Х			2	W	19.00	4	76.00	3
																			Approved-
10	3/04/24	3/05/24		6:00 AM	10:00 AM	60	Х	Х						1	W	22.00	1	22.00	3
																		·	Approved-
1	3/04/24	3/05/24		10:00 AM	3:00 PM	60	Х	Х						1	W	22.00	1	22.00	3
																			Approved-
12	3/04/24	3/04/24		3:00 PM	7:00 PM	60	Х							1	W	22.00	1	22.00	3
																			Approved-

Na	DAT	ES	Alt	TIN	1ES	LEN	DISTRIBUTION DATE TOTALS						OTALS						
No	START .	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
13	2/12/24	2/16/24		7:00 PM	12:00 AM	30			Х		<u> </u>			1	W	12.00	1	12.00	3
																			Approved-
14	2/19/24	2/23/24		6:00 AM	10:00 AM	60	Х	Х	Х	Х	Х			4	W	22.00	4	88.00	3
																			Approved-
15	2/19/24	2/23/24		10:00 AM	3:00 PM	60	Х	Х	Х	Х	Х			5	W	22.00	5	110.00	3
																		•	Approved-
16	2/19/24	2/23/24		3:00 PM	7:00 PM	60	Χ	Х	Х	Х	х			5	W	22.00	5	110.00	3
												- 1							Approved-
17	2/24/24	2/24/24		10:00 AM	3:00 PM	60						Х		1	W	20.00	1	20.00	3
																			Approved-
18	2/26/24	3/01/24		6:00 AM	10:00 AM	60	Х	Х	Х	Х	Х			5	W	22.00	5	110.00	3
																			Approved-
19	2/26/24	3/01/24		10:00 AM	3:00 PM	60	Х	Х	Х	Χ	Х			6	W	22.00	6	132.00	3
																			Approved-
20	2/26/24	3/01/24		3:00 PM	7:00 PM	60	Х	Х	Х	Х	Х			5	W	22.00	5	110.00	3
																			Approved-

Billing	Projections:	Ву	Month
---------	--------------	----	-------

Feb 24 Mar 24 1,367.00 132.00

CA 1,367.00 132.00 ST 986.00 513.00

Print Spot Prices	TOTAL	SPOTS	***************************************	74
Notes to Traffic: Rep Firm Comment: Revised product to say	GROSS	TOTAL \$	·····	1,499.00
non prempt NON PREEMPTIBLE RATES purchased	ADJUS	TED SPOTS	}	74
note has been added per owners request. Do not double	ADJUSTED TOTAL \$			
book. Please confirm with				
angela.homan@katzmedia.com. Thank you	APPRO	VE DECLI	NE	
<u>;</u>		\bigcirc	NXT	
	\bigcirc	\bigcirc	Sales Manager	
	\bigcirc	\bigcirc	National Sales Manager	
	\bigcirc	\circ	Local Sales Manager	